Installation Instructions - U-Clamp Installation - 3" Roll Tube PIN 1126483 Rev. A

" A TARP
STEP 1: Fasten U-clamps to tarp and 3" roll tube
with 1/4" x 1" self-drilling screws. -

NOTE: 1/4" x 3/4" self-drilling screws used for 2" -~ @'
roll tubes will not work correctly for 3" roll tubes. - .

" /

3" ROLL TUBE
‘\ ltem Part# Description
0 1. 1705198 Self-Drilling Screw - 1/4" x 1"

2. 1701354 Plastic U-Clamp

PO BOX 713 = 2309 SHUR-LOK STREET /\ SHUR-CO® HELP LINE
YANKTON, SOUTH DAKOTA 57078-0713 SHUHDD CALL: 1-866-748-7435
www.shurco.com

PH. 1-800-474-8756 = FAX 605-665-0501

P/N 1126483 Rev. A

Installation Instructions - U-Clamp Installation - 3" Roll Tube

STEP 1: Fasten U-clamps to tarp and 3" roll tube s TARP
with 1/4" x 1" self-drilling screws.
NOTE: 1/4" x 3/4" self-drilling screws used for 2" -
roll tubes will not work correctly for 3" roll tubes.
e .
n /
3" ROLL TUBE

ltem Part # Description

‘\ 1. 1705198 Self-Drilling Screw - 1/4" x 1"
o 2. 1701354 Plastic U-Clamp

PO BOX 713 = 2309 SHUR-LOK STREET /\ SHUR-CO® HELP LINE
YANKTON, SOUTH DAKOTA 57078-0713 sHUBBp® CALL: 1-866-748-7435
www.shurco.com

PH. 1-800-474-8756 = FAX 605-665-0501




